=
N = 0 &
20128 &= 20il&F LES|H =T AFE A ~ =T A A
2N =EAEA
B A G AA R
Crol: QIS AAE ALSY

A

_ _ _ Muo
N B a2 (3) - HRAY - BES Of] & o i HRZ2
SEAYA 10,528,980 8,284,504 2,244,476
= 3,627,000
z 94,000
= 6,807,980
N k] 284,935 299,002 A 14,067
= 94,000
= 190,935
DISa4E AlL2Y 284,935 299,002 A 14,067
z 94,000
= 190,935
ISaLE SRz 100,935 138,002 ~37,067
201 YBte | 70,575 102,536 A31,961
01 At 22t 37,740 45,536 AT,796
O+t 37,740
OIS A4+ +ZTANE 27 Mo 2(
4.015t) 14,2009 * 79~ 800
ODISH4E $EAANE A7
80,0008 * 53| * 3% 1,200
OlISH4E 28 2S%47Y 3,330
Sk 3,000 * 270kg 810
0 %l 8002 * 3,150 4 2,520
ODISA4T ¥ A 228 32,410
0 BIIFAHF A 141 E=)
65,0002 * 6894 * 33 13,260
o FIIHAH(H A 5604 B2)
3100002 * 47.9810H 4 * 13 14,875
OFIIBAHE S 9N B=)
30,7008 * 744 * 13l 215
OFIIBAHE S 1B S)
74,27080 * 4904 * 15] 3,640
0BHIIHAH RS 6 2)
42,0008 * 544 * 23] 420
02 B2l 32,835 57,000 124,165
O[BZ22 2 Al 13,356
ODISM4E ROIBRIANAY MM AS
23 45,0008 * 704 * 12042 3,780
ODISH4E ROIBLNAY XIQS
13,5002 * 54 * 12042 810
ODIS4+E LML (2LRIA
ES9N 146,002 * 5) 4 * 1242 8,766
O[A&ZHIRIHI] 19,479
ODISAAT HAAAY AlLSX2e 19,479
o ST HHI (S EDR)
45,0002 * 39H A 1,335
TN A HUl(EAE BH)
3,300% * 327 1,080




A SEAYA
MH: AATAAe
Hel DISAAE AlMSY (ctel e
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
0 ATEQrOr POI(ZE) 990,000 * 14] 990
oXYUN I = (5um)W Xl
7,350 * 2100 * 30L& 464
oBEIZR WA ¥ =2l(1.1kw)
900,000& * 3944 2,700
o HAMHAEA HHl AZ327Y
11,100& * 1JH4 * 100% 1,110
oS4+ Ald2&e XYl
200,000& * 59JH & 11,800
202 044l 360 720 A 360
01 =LHOd B 360 720 A 360
OlISa+E =Z2AAL L A2 EH 0
20,000& * 3021 « 6L 360
401 A& HIZ 20 30,000 33,500 A 8,500
01 Al & Hl 30,000 33,500 A 3,500
OS24 +E E3A 5,000,000 * 202 10,000
OltsasE =g JEANE Ex3A
2,000,000& * 1092 20,000
L2AZ2AIE HEAS 134,000 143,000 A 9,000
= 94,000
= 40,000
401 Al HIZ 20 134,000 143,000 A9,000
& 94,000
= 40,000
01 Al & Hl 134,000 143,000 A 9,000
OLEAIE HE AFZHl 80,0008 * 1,675m 134,000
= 94,000
= 40,000
272 =S A4 HEHe b 50,000 18,000 32,000
401 AIEHIZ 20HYI 50,000 18,000 32,000
01 Al &l 50,000 18,000 32,000
OHS3HMelHl £ OIZ2AIE MHEE SAtHI
10,000,000& * 54 A 50,000
ot 2l 6,135,509 4,438,502 1,697,007
= 3,627,000
= 2,508,509
S0 E Ot=ol=% EHIALY 5,181,000 1,964,000 3,217,000
= 3,627,000
= 1,554,000
ANE USKXT sHE0E ot=% FHIAY 4,607,000 1,324,000 3,283,000
= 3,225,000
= 1,382,000
401 AIEBIZ 20HYI 4,607,000 1,324,000 3,283,000
= 3,225,000




BEA =ZAEA
& of=& 2el
@42l SUHE OtSots=T ZHIAY (9 E2
S - DA . O (B NEAY . B2 Al OH HEE Hl =2+
= 1,382,000
01 Al&Hl 4,594,562 1,319,234 3,275,328
OANZE WSX7 sHE0I2 ot=% JHIAHI
4,594,562,000& * 14 4,594,562
= 3,225,000
= 1,369,562
03 Al& 20| 12,438 4,766 7,672
OANS UWsKF sHEDNS ol=% EHIAMY
=N ]l 4,607,000,000& * 0.26997% 12,438
SHaE ZAHRI T sHEDISot=5E FHIAS 574,000 640,000 A 66,000
= 402,000
= 172,000
401 AIEBIZ 2OHYI 574,000 640,000 A66,000
= 402,000
i 172,000
01 A& HI 570,384 635,968 A65,584
Ogtat 4RI ? s E Ot=Sol=% ZHIAI I
570,384,000& * 14 570,384
= 402,000
= 168,384
03 AI& 201l 3,616 4,032 A416
Ogtat E4HI7 s E OtSot=% EHIAE
S0yl 574,000,000& * 0.62995% 3,616
212 OISt EUISA 593,600 593,400 200
ot=% JHl 503,600 503,600 0
401 Al HIZ 2 0HYI 503,600 503,600 0
01 Al &l 500,000 500,000 0
OALE20tE2 ot==% JHISAtHI
130,000& =* 349.650m * 115 500,000
03 AI& 2 0HHI 3,600 3,600 0
OAL20t2 ot=E HUISAH 20H4|
571,428,000& * 0.63% 3,600
ot=& =4 50,000 49,800 200
401 Al HIZ 20HYI 50,000 49,800 200
01 Al &l 50,000 49,800 200
OL+2 OtSot=E &4 S At
8,000&  30IH4 * 208.333m 50,000
OtE2sXeld 22 E=3A 40,000 40,000 0
401 A& HIZ 20HYI 40,000 40,000 0
01 Al&Hl 40,000 40,000 0
OltSotHMeld 22 2= Att|
5,000,000& * 82 40,000
OtSot=xXclE23 335,634 163, 102 172,532
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=E A A

B s 22l
EERNEEPES BEEL R
_ _ _ N E
SA B HRA(SH) - MRAY - B O & o4 e HIREY
OtSot=Held 23 335,634 163,102 172,532
201 get2Ad| 108,210 108,210 0
02 E=2gHl 108,210 108,210 0
OlBZR2 % HA 79,210
oOMIIL= 195,650 * 23 + 120H& 54,000
oss el ey 3y
63,660  332/4 « 12JHE 25,210
O[AIE & HIR X Y] 29,000
OJIH A ST L4t
594,550 * 370HA * 1/2 11,000
ONOIET S22l
200,000& * 200CH = 1/5 8,000
OASHH ¥ KA |NBY
2,500,000 * 40002 = 1/10 10,000
202 (44l 2,080 2,080 0
01 =2 U HI 2,080 2,080 0
O=ZZAMN AMSMH bl
20,0003 * 12l » 32 » 12& 720
ONEES B 2 24 0t
20,000& * 2Q! * 344 1,360
207 A5 d| 25,344 29,043 A 3,699
01 A1 E S| 25,344 29,043 A 3,699
Outestamely J&xE 89
8,448,000& * 3 25,344
401 A& HIZ 2 CHYI 200,000 21,000 179,000
01 A& HI 200,000 21,000 179,000
OATR HeAlE MM
200,000,000& * 10HA 200,000
AM=E0 Sl=Hel Ad2Y 25,275 0 25,275
S EEE 25,275 0 25,275
201 get2Ad| 19,230 0 19,230
01 A2 2t 2ldl 5,700 0 5,700
Olgur+2H] 5,700
OMEES #¢ 200,000& * 13 200
OYAE o AHItE 7Y
200,000& * 13 200
O£kl &2 24 ==& 100,000& * 53 500
OmIlZ A= Ml
150,000& * 2& * 643 1,800
ol HAL =2 100,000& = 12l 100
omEIGHBRIUH 242
200,000& = 120H& 2,400
oxgs 150,000& = 221 * 13l 300




SHT =TAYA
M ot 2el
&t =3 St=Hel A2 (ctel: &
SN I SRI(S) - NRAY - B sk e 2
OHA=(1318) 5,000& * 22! = 103 100
OQtd st 50,000& * 22! 13 100
02 2244 13,530 0 13,530
o223 ¢ WAl 7,800
O&ote AIEZ 300,000& * 61 1,800
oNJIIe= 6,000
oJlEZg 5,190& * 100kW * 5 7871 & 3,000
oANBE 72.13 = 10,000kW = 4. 1601 & 3,000
olg 2 ] 500
OHl&ZdI| A=l
1,500& * 100 4 = 3.332Al2t 500
O[A&EbEI=XI8l] 5,230
OJIHANE B8 B+ 50,000& * 105 500
O&HAE 50,000& * 23| 100
OJIAH&Hl |X&el A2 1,630
o2 ¢ 250,000& * 1E£& 250
o7clA 56,000& * 5& 280
oFRSH 100,000& * 1E¢ 100
oI & 10,000& * 10& * 104 1,000
OMJII&Hl |X&el A2 3,000
o ™I XtHDI 200,000& = 2.5& 500
o EtOIH 25,0003 * 2004 500
oI & 10,000& * 108 = 100K 1,000
02H ZY WX 100,000& = 103l 1,000
202 ¢4 4l 400 0 400
01 =2 A bl 400 0 400
OANE=E 38 & 20l
20,000& * 201 = 10 400
206 =l 5,645 0 5,645
01 =4l 5,645 0 5,645
OB M (I 2H =8
10,0003 = 10kg * 302 3,000
O=sa8 LM 6,0002 » 20kg * 10 1,200
On=Xx S&H 4,000 = 12kg = 11.72 563
OEHA 6,0008 » 2kg » 302 360
OS& HI(PAC) 2603 = 15kg * 133.6¥ 522
IPEsS(=SAIE L) 4,108,536 3,547,000 561,536
LHEHHXI = 4,108,536 3,547,000 561,536
o BIIGNA HES 2,081,475 1,760,977 320,498
M9 EES 989,875 608,777 381,098
01 2VIHSEHBYNEES 989,875 608,777 381,098




SN STARIA
Hu: HRES(STAYL)

Sl S HHKS (25 &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Hnz2
O&%5 o121l xi@ (392!)
872,621,002 * 14 872,621
OX%E JITHOIK 422 (HSER22 35)
117,254,008 * 14! 117,254
404 2 ARRHES 1,091,600 1,152,200 60,600
01 RIS HN=HES 1,091,600 1,152,200 160,600
OJIMHE 2 s (BSEN2Q 35)
553,600,0002 * 14 553,600
OS0HZ=MESS N AL
470,800,008 * 14} 470,800
OJZME £3H7 AT AZAY
32,000,000 * 14! 32,000
OHASS SUS42 WYX A
35,200,000 * 1Al 35,200
ST ZolYNE FES 2,027,061 1,786,023 241,088
309 ME3 329,211 428,113 98,902
01 BIIYSHS HILHES 329,211 428,113 £.98,902
OBt4=E 01218 X (2621)
289,189,002 * 14 289, 189
OBH+ T AR DT AHEHOI Xt
40,022,002 * 144 40,022
404 BN HES 1,697,850 1,357,910 339,940
NESIFEEEP P EE 1,697,850 1,357,910 339,940
OB T AR DI Abat
247,810,008 * 14 247,810
OUSIES SIS H2IT X S A
211,000,008 * 14} 211,000
OBLASIES GIaBLHRIZ S ZAH
203,000,002 * 14} 203,000
OZMUES sl E &X A
113,000,008 * 14! 113,000
OAZ5H4ER HUIALY  545,040,0002 * 1A 545,040
OBHAGHERI! FHUIAF  378,000,0002 * 1Al 378,000




